, o " Total number of pages—-8 ,
32T BMST T

. 2022

BUSINESS MATHEMATICS
'AND STATISTICS

Full Marks : 100

'Pas.sM‘ark_s:IBO L
: Time : Three h‘(')ujrsA
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- Q: Nos. 15-18 o " 8 marks eaclt ' 8x4 = 32
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L. Answer the following questions as directed :’ . 1x8=8 -

(@)

Is the set A= {x|x<x} a null set ?.

K 'A=.{x.|.)';.<x} xﬂ?{ﬂ"mﬁ@ﬂ"ﬁ%m9

)

{9
C'ﬁwrmmvnaﬁq%?

)

o)

2

5x 10 _ S
If . |=O, ﬁnd X.
2 4 ‘

5x 10| .
* l=0,:ﬁ°§l®)€l

What is the dlfference between permutatlon and combmatlon ?

The marks scored by 7 students are — -
7 & QEREN TR — - .
40, 42, 38, 45, 50, 52, 55 |

.F1nd Median.:
g e Sall

Write True or False :
oF (7 AT ol 8 '

AM. <GM-<HM. .,

| ST WY < STAGT TG < TIGE

{g)

(h)

What is the S.D. of two values 8 and 4 ?
8@1&43?@%@3%@9 ‘

‘What do you mean by combmatlon ?

R 3 FCL
Fill in the -blank :

AR
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2 Answ_er the following. qu:estioﬁé ir; :brie'f : . 2x5=,£0 . |
e PR BT Te il ¢
(@) ,biétinguish between {0}, ¢‘ and {¢}."
(0} ¢ W {p}-T e Rom =1
(b) F1nd n, if 2"C3 "Cp=44:3.
| ﬁcﬁwaﬁz"ca'-“cz_m 31

" (¢) -In what time will Rs.2100 amount to Rs. 2835 at 10% p.a. S.I.2
| f%amum—azﬁ IO%WT_ZIOOW"NI 2835%1?’6?

@ Us1ng the property of determmant _prove that.

lo 35 |
' [-3.- 0 2|=0.
=5 =2 0
ﬁcﬁmdmmsﬁmqwm
.0 3 5 .
-'—3 0 2{=01
-5 —2 0 ‘

(e) Mention two advantages and two dlsadvantages of- A M.
o -meﬁﬁﬁmmmwﬁmWWl | .

 The d1fference in simple 1nterest on Rs.1450 at 5% p.a. and on
Rs.1250 at the same rate for the same t1me is Rs. 135 Find the

“time. 3
qgﬁS%W*{ﬁ&ﬂRs 14SOWWTWWW¥1«RS 1250 3

AW&W’N@RSISSIWW&IW!

4. Find ‘7 and ‘r’, if — :
oy o 3 T R, zrm-— .

| npr=1680, "C, =70-
21 BT o ond



If ()
U={223,57,11,13},
A= {5 i el
B={3,7,11,18},
show that ((74edl ()

(AUB)°=A°N BVC

If (IM)

i STy
A=

-4 2 8]

e ST
B =

(RN E
find (ﬁ‘ﬁIW)
5A-3B<=?

OR / ©34Y
Find ‘x’ and ‘y’, if
cxa m :y7 g m %ﬁ\em, ﬂ-ﬁ

4 iy 18 |
L6 + =
ol TS | 3
Calculate mean deviatiqn from mean from the given data : 3

weTe Ml WA AYTS YR 2 51T Ko a1 ¢
6,9, 12, 15, 18

A man deposits Rs.1200 in a bank at the end of each year @ 5%
p.a. C.I. What would be his deposit after 15 years ? 5
(Given (1:05)!°=2-0789) < '

e TR <! (S AT TR (/S TR 5% S Tow 1200 T @
| 15 T2 Ao (969 T R 292 (s (1-05)15 = 2:0789)
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9. A certam sum of money at a certam rate compounded annually
amount to Rs.8820 in 2 years and Rs.9261 in 3 years Find the
rate of.interest and the principal. =~ 5

| maﬁm@ﬁﬁ%asﬁm%wzwsszotaﬂmswgzm
| Wmﬂnq—amms{wﬁ«ﬁw:

-10. Draw the graph of : (any one} o B - 5
'WIWWW (Rieeicl @By) - S : |
§) X+2y-2020 |
3x+y-—12<0 .
) 3Y- 2x<6 |
x+y>5 : o e e
x+2y>4 S

- y<4

v ' . \9 R . .

. a » ) o
11. 'In'the 'expansion (x2 —;) ', the term free from x is 5376. Find the
value of -‘a’. . ' | - | 5

(x —-—) ﬁ@ﬁt‘? xﬂWWﬁSS?& aﬁsﬂﬂﬁ‘fﬂ?ﬁ'ﬂ

o 12. Ina meetmg, after _everyone had shaken hands with everyone else,
it was found that 105 handshakes were exchanged How many

'. ‘, persons were present at the. meetlng ? .5
G2 TS, WWETWWWMﬂ’H mjs 105%fasasm }
- tim FoRAS J5 TR e wﬁz{? SRR

" A box contains 6 whlte, 4 red and 7 green balls In how many ways
. can you draw — '5’
(i) 4 white and 3 red :
(i) 3 balls of the same colour 2 :
451 TS 6 B 3V, 4 51 61 W% 7 O m%@%maamnﬁsm wwﬁraﬂgﬁwﬁm— -
" i) AN 3B E
(i 3 B AP IE9? o :
5] o Contd.
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' .13 If (‘ﬂﬁ‘) f(x)—x +7x+12 R
o ofmd fA) L
»[f(A)aﬂﬂﬁ‘fiIW] IR |
~when ((.?IF'TIT)
A=[0. 1 -1 S 5
3 -1 1 | - |
- OR [ 924t
Solve using Cramer’s Rule : o T 5
| NI A T e : | :
3x+y+2z=3 '
2x-3Yy-z=-3
. X+2y+z=4
14. If @@
A={1,2,3,4}
B={2,4,6,8}
- C={3,4,56}- -
' prove that (I I @) . B :
' Au(Bnc) (AUB)n(AUc) s
: | OR/ &% .
In a class of 50 students, 24 students have taken Adv. Maths, 16
have taken Adv. Maths but not Geography. Find the no. of students o
who- have taken both Adv. Maths and Geography. 5.
G5t (TR 50 T PE-TAR TTTS 24 R TS GRS 16 T Twsiite
m&ﬁs@@mmaﬁlmﬁﬁ—m@%mﬁﬁm{bmﬁﬂ
.
15. (a) The A.M. and H.M. of two numbers are 10 and 6 4 respectlvely.

Find the numbers and their G.M. , 4
iﬁﬂ\ﬂmwm&swww}m 10%64|7{?m?§13?{m
ﬁimem@a W%%mn
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16.

(b) F1nd the median of the followmg data : . T ‘ 4

- oere fanl o Wl Ay e

" Class:  101-200 201-300 301-400 401-500 501-600 601-700
@l 3 . . o
"Erequency : 8 0 .15 6 3 .2 .

. Calculate standard dev1at10n and coefﬁ01ent of vanat10n from the

following data : - © 4+4=8

—@a—mmwwﬁwmﬁw@wﬁeﬁww

17.

18.

Class (=) @ 0-6 6-12 12-18 18-24 24-30 30-36

Frequency @R : 12; .24 38 52 34 © . 19

(a) A bag contains 10 whlte 6 red, 4 black and 7 blue balls 5
" balls are drawn randomly What is the probablhty that 2 of
them are red and 1 is black ? . 4.

| @5t @3S 10 B M, 6 B T, 4%1@"’&1@1&7%:%«%1%%
5ﬁwa@rﬁa®mm€m2ﬁa@m1ﬁ$’aﬁamwﬁm
R

"'(b)‘, What is the probab111ty that a leap year selected at random

will contain 53 Sundays ? 4
Wmaﬁﬁ@ssﬁmmcwwma? ‘
| ‘ OR/@Ad =
' State the'mathemauCal definition, of probability. What are its .
* limitations ? R
,Wmﬂ’lﬁsﬁmﬁmliﬁﬁwﬁwﬁﬁw |
(a) What ‘are the dlfferent types of correla’uon ? - 2
F-ogEq [Afen g & e ‘

(b). Calculate Karl Pearsons correlatlon coefflcaent from the

" following data :
oo WWWWW%W @ﬂ:@‘ﬁ‘fn@z
2 6 8 10 14 16. 20

x: , |
y: 1 34 5 7 8 10
171
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